ABSTRACT STATEMENT OF ELECTION EXPENSES

PART - I

Acres de la companya del la companya de la companya		
1	Name of the Candidate	SMT. NAZIA YASMIN MAZUMDER
11	Number and name of Constituency	HP-2, SILCHAR
III	Name of State / Union Territory	ASSAM
IV	Nature of Election (Please mention whether General Election to State Assembly / Lok Sabha (Bye-election)	GENERAL ELECTION TO LOKSABHA 2019
V	Date of declaration of result	23/05/2019
VI	Name and Address of the Election Agenct	WASIM RAJA MAZUMDER, MADHURBOND, SILCHAR
VII	If candidate is set up by a political party, Please mention the name of the political party	NATIONAL PEOPLE'S PARTY (NPP)
VIII	Whether the party us a recognised political party	YES

DATE::

14/06/2019

PLACE:: SILCHAR

SIGNATURE OF THE CANDIDATE

NAME: NAZIA YASMIN MAZHUMDER

Nasia Yasmin Klasondon

		PART	Γ-ΙΙ		
S.No.	Particulars	Amt. Incurred / Auth.by Candidate / Election agent (in Rs.)	Amt. incurred / Authorised by Pol. Party (in Rs.)	Amt. incurred / Authorised by others (in Rs.)	Total Expenditure (3) + (4) + (5)
1	2	3	4	. 5	6
1	Expenses in public meeting, rally, procession etc:- I. a: Expenses in public meeting, rally, procession etc (ie other than the ines with Star Campaingers of the Political party (Enclose as per Schedule - 1)	421,299.70	•		421,299.70
	I. b: Expenses in public meeting, rally, procession etc with Star Campainger(s) (ie other than those for general party propaganda) (Enclose as per Schedule - 2)				
11	Campaign materials other than those used in the public meeting, rally, procession etc. mentioned in S.No. I above (Enclose as per Schedule - 3)	-	-	•	<u>.</u>
: III	Campaing, through print and electronic media including cable network, bulk SMS or internet and Social media (Enclose as per Schedule - 4)	-	-	-	•
IV	Expenditure on campaign vehicle(s), used by candidate (Enclose as per Schedule - 5)	305,890.00	-	-	305,890.00
٧	Expensess of campaign workers / agents (Enclose as per Schedule - 6)	361,000.00		-	361,000.00
VI	Any other campaign expenditure	-	- 1		
VII	Expenses incurred on publishing of declaration regarding criminal cases (Enclose as per Schedule-10)*	-		-	
	Grand Total	1,088,189.70	-		1,088,189.70

Nagin Laemin Magadan

	ABSTRACT OF SOURCE OF FUNDS RAISED BY CAN	DIDATE					
	PART - III						
S.No.	Particulars	Amount (in Rs.)					
1	2	3					
ı	Amount of own fund used for the election campaign (Enclose as per Schedule - 7)	500,000.00					
11	Lump sum amount received from party (ies) in cash or cheque etc. (Enclose as per Schedule - 8)	400,000.00					
III	Lump sum amount received from any person / company / Firm / associations / body of persons etc. as loan, gift or donation etc. (Enclose as per Schedule - 9)	441,429.00					
	Total	1,341,429.00					

" Nagia lagand Magadu





INDIA NON JUDICIAL

र्ज्ञंभ असम ASŞAM



30AA 706418



Before the District Election Officer, Dist-Cachar, State-Assam

Affidavit of Sri Nazia Yasmin Mazumder, W/O. Abdul F.J.A. Mazumder, D/O. Mazir Uddin Mazumder, aged about 38 years, resident of House No. 1, Nursheolul Alam School Lane, Sonai Road, Silchar, P.O. & P.S.-Silchar, Dist-Cachar, Assam, do hereby solemnly and sincerely state and declare as under:-

1. That, I was a contesting candidate at the general election/bye election to the House of the People/Legislative Assembly of HP2 from Cichar Parliamentary/Assembly constituency, the result of which was declared on 23rd May 2019

- 2. That, I/my election agent kept a separate and correct account of all expenditure incurred/authorised by me/my election agent in connection with the above election between 25 April 10 23 Let the date on which I was nominated) and the date of declaration of the result thereof, both days inclusive.
- That, the said account was maintained in the Register furnished by the Returning Officer for the purpose and the said Register itself is annexed hereto with the supporting vouchers/bills mentioned in te said account.



असम ASSAM

That, the account of my election expenditure as annexed hereto includes all items of election expenditure incurred or authorised by me or by my election agent, the political party which sponsored me, other associations/ body of persons and other individuals supporting me, in connection with the election, and nothing has been concealed or withheld/suppressed therefrom (other than the expense on travel of leaders' covered by Explanations 1 and 2 under section-77(1) of the Representation of the People Act, 1951).

That, the Abstract Statement of Election Expenses annexed as Annexure-II to the said account also includes all expenditure incurred or authorised by me, my election agent, the political party which sponsored me, other associations/body of persons and other individuals supporting me, in connection with the election.

That, the statements in the foregoing paragraphs (1) to (5) are true to the 6. best of my knowledge and belief, that nothing is false and nothing material has been concealed. Nagen Yamin Magudan. Deponent

Solemnly affirmed/sworn by 15th day of June' 2019 before me.

Identified by me, Debamaly, chaknobis. Advocate, Silchar. 15-6-19 at Silchar on

Schedules 1 to 9: Details of Elections Funds and Expenditure of Candidate

	ule - 1	than than these	with Star Campa	igners of the Politi	cal party)
xpense	s in public meeting, rally, procession etc (ie o	ther than those		ource of Expenditu	
S. No.	Nature of Expenditure	Total Amount (in Rs.)	Amt. Auth.by Candidate / agent	Amt. incurred by Pol. Party with name	Amt. incurred
1	2	3	4	5	6
1	Vehicles for transporting visitors	-	-	•	•
2	Erecting Stage, Pandal & Furniture, Fixtures, Poles etc.	80,466.00	80,466.00	•	
3	Arches & Barricades etc	-	•	-	-
4	Flower / Garlands	-	-	•	
5	Hiring Loud speakers, Microphone, amplifiers, comparers etc	28,500.00	28,500.00	•	
6	Posters, hand bills, pamphlets, banners, Cutouts, hoardings	255,786.00	255,786.00	•	
7	Beverages like tea, water, cold drinks, juice etc	24,830.00	24,830.00		
8	Digital TV - baords display, Projector display, tickers boards,3D display		-		•
9	Expenses on celebrities, payment to musicians, other artists remuneration etc			-	
10	Illumination items like serial lights, boards etc				
11	Expenses on transport, Helicpoter / aircraft / vehicles / boats etc charges (for self, celebrity or any other campaigners other than Star Campaigner)				
12	Power consumption / generator charges	2,000.00	2,000.00	-	-
13	Rent for venue	(A)	-		
14	Guards & Security Charges	-	-	•	
15	Boarding & lodging expenses of self, celebrity, party functionary or any other campaigner including Star campaigner	-	-		-
16	Other expenses	29,717.70	29,717.70	-	
	TOTAL	421,299.70	421,299.70		

Dægra Varemin Magarda

Expenses in public meeting, rally, procession etc with the Star Campaigner(s) as apportioned to candidate (ie other

than those for general party propaganda)

			Source of Expenditure					
S. No.	Date and Vanue	Name of the Star Campaigner (s) & Name of Party	Amount of Expenditure on public meeting rally, procession etc. with the Star Campaigner(s) apportioned to the candidate (As other than for general party propoganda) in Rs.	Remarks, if any				
1	2	3	4	5				
1								
2								
3								
4								
12	TOTAL	10.00						

Dagin lagmelen

Details of expenditure on campaign materials, like handbills, pamphlets, posters, hoardings, banners, cut-outs, gates & arches, video and audio cassttes, CDs/DVDs, Loud speakers, amplifiers, digital TV/Board display, 3D display etc. for candidate's election campaign (ie other than those covered in Schedule 1 & 2)

		京林 山頂	Sou			
S. No. 1 1 2 3	Nature of Expenses	Total Amount (in Rs.)	Amt. by Candidate / agent	Amt. by Pol. Party	Amt. by others	Remarks, if any
1	2	3	4	5	6	7
1	-	-		•		-
2		-		-		
3				•		-
4						
	TOTAL			-		

Nægia lasarin Manchen

Details of expenditure on campaign through print and electronic media including cable network, bulk SMS or internet or social media news items/TV/radio channel etc., including the paid news so decided by MCMC or voluntarily admitted by the candidate. The details should include the expenditure incurred on all such news items appearing in privately owned newspapers/TV/radio channels etc.

					Source	of Expendit	ure
S. No.	Nature of medium (electronic / print) and duration	Name and address of media provider (print / electronic / sms / voice / cable TV, social media etc)	Name and address of agency, reporter, stringer. Company or any person to whol charges / commission etc. paid / payable, if any		Amt. by Candidate / agent	Amt. by Pol. Party	Amt. by others
1	2	3	4	5	6	7	8
1							
2						-	
3				-	-		
	TOTAL	TREET EAST					

Schedule - 4A

Details of expenditure on campaign through print and electronic media including cable network, bulk SMS or Internet or social media, news items/TV/radio channel etc., including the paid news so decided by MCMC or voluntarily admitted by the candidate. The details should include the expenditure incurred on all such news items appearing in newspapers/TV/radio channels, owned by the candidate or by the political party sponsoring the candidate..

					Source	of Expendit	ure
S. No.	Nature of medium (electronic / print) and duration	Name and address of media provider (print / electronic / sms / voice / cable TV, social media etc)	Name and address of agency, reporter, stringer. Company or any person to whol charges / commission etc. paid / payable, if any		Amt. by Candidate / agent	Amt. by Pol. Party	Amt. by others
1	2	3	4	5	6	7	8
1	Nil	Nil	Nil	-		-	
2	Nil	Nil	Nil	-		-	
3	Nil	Nil	Nil	-		-	
4	Nil	Nil	Nil	-		-	-
	TOTAL						

Magia lasain Magadh

Schedule - 5

Details of expenditure on Campaign vehicle(s) and poll expenditure on vehicle(s) for candidate's election campaign

MAN			Hiring	Charges of ve	ehicle			Source	of Expendi	ture
S. No.	Regn No. of Vehicle & Type of Vehicle		Rate for Hiring of Vehicle / maintenance	Fuel charges (if not covered under hiring)	Driver's charges (if not covered under hiring)	No of Days for which used	Total Amount incurred / auth in Rs.	Amt. by Candidate / agent	Amt. by Pol. Party	Amt. by others
1	2	1	3a	3b	3c	4	5	6	7	8
1	AS-11-BC-1002	TATA SUMO	1130			10	11300	11300		Jaka -
2	AS-11-BC-5516	PICKUP WITH LOUDSPEAKER	880			14	12320	12320		
3	AS-11BC-6216	BOLERO	1130			9	10170	10170	-	-
4	AS-11-BC-7149	AUTO WITH LOUDSPEAKER	440			8	3520	3520		
5	AS-11-CC-2601	VAN WITH LØUDSPEAKER	880		2,0	. 2	1760	1760	4	
6	AS-11-E-4733	SCORPIO	1970	Marine		12	23640	23640	-	
7	AS-11-E-6548	BOLERO	1130			12	13560	13560		-
8	AS-11F-1264	VAN WITH LOUDSPEAKER	880			8	7040	7040		
9	AS-11-K-0368	VAN WITH LOUDSPEAKER	880			3	2640	2640	-	
12	AS-11K-7825	ECO SPORTS	1970			10	19700	19700		-
13	AS-11-L-8161	VAN WITH LOUDSPEAKER	880			8	7040	7040		
14	AS-11-M-3559	BOLERO	1130			10	11300	11300		-
15	AS-11-N-8722	VAN WITH LOUDSPEAKER	880			8	7040	7040		
17	AS-11-P-4790	VAN WITH LOUDSPEAKER	880			2	1760	1760	•	-
18	AS-11-Q-5088	OMNI VAN	880			8	7040	7040		
19	AS-11-Q-8075	OMNI VAN	880			12	10560	10560		Sant-H
20	AS-11Y-4032	AMBASSADOR	880			8	7040	7040		-

Magin Yayun Magnsten

21	ML-04A-3545	VAN WITH LOUDSPEAKER	880	8	7040	7040		
22	ML-04B-7878	SCORPIO	1970	6	11820	11820	-	
23	Other vehicles	used during campaign	4		129600	129600	-	-
halls					305890	305890	-	

Nagia Carrin Magada

Details of expenditure on Campaign workers / agents

		Expenses on Campaign	Worke	rs		Source of Exp	enditure	
S. No.	Date & Venue	Nature of Expenses	Rate	No of Workers / Agents / No. of kiosks	Total Amount incurred / auth in Rs.	Amt. by Candidate / agent	Amt. by Pol. Party	Amt. by others
1	2	3a	3b	3c	4	5	6	7
1		Fooding of Campaign Workers & Workers engaged to attend NATRIP		11	361,000	361,000		
2			-			-		
3			-	-		-		
4			-	-				-
5			-	-			-	
	TOTAL				361,000	361,000		-

Musin Yasan Ilazarda

	dule - 7 of Amount of own	n fund used for	the election campaign		
S. No.	Date	Cash	DD/ Cheque no. etc with details of drawee bank	Total Amount in Rs	Remarks
1	2	3	4	5	6
1	20/03/2019	Cash	Cash deposited from own fund	50,000	
2	30/03/2019	Cash	Cash deposited from own fund	50,000	
3	05/04/2019	Cash	Cash deposited from own fund	100,000	
4	06/04/2019	Cash	Cash deposited from own fund	300,000	
	TOTAL			500,000	

Magia lagant blagache

Sched	lule - 8					
Details of Lump Sum Amount received from the party (ies) in cash or cheque or DD or by Account Transfer						
S. No.	Name of Political Party	Date	Cash	DD/ Cheque no. etc with detaiails of drawee bank	Total Amount in Rs.	Remarks If any
1	2	3	4	5	6	7
1	National Peoples Party	10/04/2019			200,000	
2	National Peoples Party	12/04/2019			200,000	
3						
4			Ar -	* * .		
5		la la				
	TOTAL				400,000	

Magia lasain Mande

Details of Lump Sum Amount received from any person / company / firm / associations / body of persons etc. as loan, gift or donation etc.

S. No.	Name and address	Date	Cash	DD/ Cheque no. etc with details of drawee bank	Mention Whether loan. Gift or donation etc.	Total Amount in Rs.	Remarks If any
1	2	3	4	5	6	7	8
1	Oruja Mazumdar, Silchar (Sister)	28/03/2019	Transfer	NEFT/RTGS	Gift	500.00	
2	Oruja Mazumdar, Silchar (Sister)	30/03/2019	Transfer	NEFT/RTGS	Gift	50.00	
3	Oruja Mazumdar, Silchar (Sister)	30/03/2019	Transfer ,,	NEFT/RTGS	Gift	1.00	
4	Oruja Mazumdar, Silchar (Sister)	30/03/2019	Transfer	NEFT/RTGS	Gift	50,000.00	
5	Monsur Mazumder, Silchar (Brother)	30/03/2019	Transfer	NEFT/RTGS	Gift	107,556.00	
6	Oruja Mazumdar, Silchar (Sister)	31/03/2019	Transfer	NEFT/RTGS	Gift	50,000.00	
7	Oruja Mazumdar, Silchar (Sister)	31/03/2019	Transfer	NEFT/RTGS	Gift	100.00	
8	Oruja Mazumdar, Silchar (Sister)	31/03/2019	Transfer	NEFT/RTGS	Gift	500.00	
9	Oruja Mazumdar, Silchar (Sister)	31/03/2019	Transfer	NEFT/RTGS	Gift	100.00	
10	Oruja Mazumdar, Silchar (Sister)	31/03/2019	Transfer	NEFT/RTGS	Gift	150.00	
11	Oruja Mazumdar, Silchar (Sister)	31/03/2019	Transfer	NEFT/RTGS	Gift	100.00	
12	Ruhul Amin, Silchar (Brother)	02/04/2019	Transfer	NEFT/RTGS	Gift	100.00	
13	Abu Jahangir Mazumder, Ghaniwala, Silchar	06/04/2019	Cash		Donation	2,000.00	
14	Islam Uddin Mazumder, Silchar	06/04/2019	Cash		Donation	2,000.00	
15	Jamrul Islam Laskar, Silchar	06/04/2019	Cash		Donation	2,000.00	
16	Ahmed Hussain Barbhuiya, Silchar	06/04/2019	Cash	1	Donation	2,000.00	
17	Asrof Hussain Laskar, Sonai, Silchar	06/04/2019	Cash		Donation	2,000.00	
18	Asraf Hussain Laskar, Sonai Road, Silchar	06/04/2019	Cash	-	Donation	2,000.00	
19	Abul Salem Laskar, Silchar	06/04/2019	Cash		Donation	2,000.00	

Vasia lasari Masandu

20	Moin Uddin Laskar, Silchar	06/04/2019	Cash	-	Donation	2,000.00
21	Altaf Hussain Laskar, Silchar	06/04/2019	Cash		Donation	2,000.00
22	Javed Ali Barbhuiya, Silchar	06/04/2019	Cash		Donation	2,000.00
23	Monahara Begum Laskar, Silchar	06/04/2019	Cash		Donation	2,000.00
24	Saha Alam Sheikh, Silchar	06/04/2019	Cash		Donation	2,000.00
25	Anam Uddin Laskar, Cachar	06/04/2019	Cash		Donation	2,000.00
26	Moin Uddin Barbhuiya, Silchar	06/04/2019	Cash	•	Donation	2,000.00
27	Javed Ali Barbhuiya, Silchar	06/04/2019	Cash	•	Donation	2,000.00
28	Oruja Mazumdar, Silchar (Sister)	15/04/2019	Transfer	NEFT/RTGS	Gift	100,000.00
29	Monsur Mazumder, Silchar (Brother)	15/04/2019	Transfer "	NEFT/RTGS	Gift	100,352.00
30	Bank of India	01/05/2019	Transfer		Interest on SB	1,920.00
	TOTAL					441,429.00

Maya lasarin Magudan